Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name : Switchgear and Protection
Subject Code : 2TE06SGP1 Branch: Diploma(Electrical)
Semester : 6 Date : 11/04/2017 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions

A. Rating of fuse wire is expressed in
(A)Watt (B) Ohm
(C) Mho (D) Ampere

B. The most common type of 3¢ symmetrical fault is ...............
(A) LLL (B)LLG
(C)LG (D) LL

C. The medium employed for extinction of arc in air circuit breaker is
(A) SFg (B) Qil
(C) Air (D) Water.

D. SFe gas
(A) is yellow in color (B) has pungent odor
(C) is highly toxic (D) is non-inflammable.

E. Best protection is provided by HRC fuses in case of
(A) Open circuits (B) Short circuits
(C) Overloads (D) None of the above.

F. A Merz-price protection is suitable for
(A) transformers (B) alternators
(C) feeders (D) transmission lines.

G. Under Fault Conditions, ........... Supplies Information To The Circuit Breaker To
Open.
(A) Relay (B)Fuse
(C)MCB (D) Feeder

H. Third Pin Of A 3 Pin Plug Is Thicker And Longer Due To
(A)For Designing Purpose (B) For Protection Purpose.

(C) All Pins Are Of Same Size. (D) None Of These.
l. Induction cup relay is operated due to change in

(A)Current (B)Voltage
(C) Impedance (D) All of above
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To Reduce the short circuit Fault current.............ooovieiiiin.... are used

(A) Reactor (B) Resistor

(C) Capacitor (D) None of above

A fuse is connected

(A) In Series in circuit (B) In parallel with circuit

(C)Either in series or parallel in circuit (D) Non of above
The fuse current in amperes is related with fuse wire diameter D as

(A)I oo I/D B)IwD
(C) 1 oo D2 (D) I o0 D?,
SF6 gas

(A) is lighter than hydrogen

(B) is lighter than air

(C) has density 2-times as compared to that of air

(D) has density 5 limes as compared to that of air.

The acting contacts for a circuit breakers are made of

(A) Stainless steel (B) Hard pressed carbon
(C) Porcelain (D) Copper tungsten alloy.

Attempt any four questions from Q-2 to Q-8

Q-2

Q-8

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

Attempt all questions
Explain back up protection and give the necessity of backup protection and also

explain types of backup protection

Write desireed functional characteristics of protective system.
Attempt all questions

Explain : SFg Circuit Breaker.

Explain HRC fuse with advantages and disadvantages.
Attempt all questions

Explain : Buchholz relay

Explain any seven terms related to Relay Operation.
Attempt all questions

Explain differences between Instrument Transformer and Protective Transformer.

Explain points to be considered in selecting Current Transformer.
Attempt all questions

Explain non Direction time graded protection for Feeder / Line Protection.
Explain Direction Protection for Ring Main System.

Attempt all questions

Write types of Lighting Arrestor and explain any one in detail.

Explain the Reasons of Causes of Over Voltage (Internal and External).
Attempt all questions

Classify different types of Oil Circuit Breaker and explain any one in detail.
Define following terms

1. Blind spot 2. Fusing Factor 3. Pre Arcing time 4. Fault
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